Find the pH of 0.17 M methylamine.
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Solve for hydroxide concentration.
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? Find the pH of 0.11 M hypochlorous acid
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Solve equilibriium fgr hydronium ion concentration.
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® Find the pH of 0.030 M sodium hydroxide.

Strong base. NaOH completely ionizes in water:
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* An 0.15 M solution of monoprotic acid has a pH of 2.80 at 25 C. Find the Ka of the acid
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What is the pH of a solution that contains both 0.15 M formic acid
and 0.10 M sodium formate?

This is a buffer, since it contains significant concentrations of a weak acid

(formic acid) and its conjugate base (formate ion). Use the Henderson-Hasselbalch
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